


Note: | A=3, B=4,C=-2 from no working scores M1B1IM1A1
Note: | The final A1 mark is effectively dependent upon both M marks
Notes for Question 11 Continued
(a) ctd
Note: | Writing 1+11x—6x* = B(1-2x) + C(x—3) = B =4, C =—2 will get 1t M0, 2" M1, 1t A0
Note: | Way 1: You can imply a correct identity 1+11x —6x° = A(1—2x)(x —3) + B(1—2x) + C(x—3)
from seeing 1+11x —6x° _ A-2x)(x-3) +B(1-2%) +C(x-3)
(x=3)(L-2x) (x=3)(L-2x)
Note: | Way 2: You can imply a correct identity —10x+10= B(1-2x)+C(x-3)
from seeing _—10X*+10 _ B(L=2X)+C(x-3)
(x—3)(1-2x) (x=3)(1-2x)
(b)
M1: Differentiates to give {f'(x) =} £A(Xx-3)? £ u(1-2X)*; 1, u#0
Alft: f'(x) = —4(x—3)? —4(1-2x)?, which can be simplified or un-simplified
Note: | Allow Alft for f'(X) = —(their B)(x—3) +(2)(their C)(1—2x)*; (their B), (their C) #0
Al f'(x) = —4(x-3)? —4(1-2x)% or f'(x) = — x _43)2 — (1_2)()2 and a correct explanation
e.g. F'(X) = —(+ ve) — (+ ve) <0, so f(X) is a decreasing {function}
Note: | The final A mark can be scored in part (b) from an incorrect A=... or from A =0 or no value of

A found in part (a)







